Declaration of Results Ward 01 - Irvine West 04/05/2012

I declare that the result of the election in the Ward 01 - Irvine West is as follows.

There are 4 councillors to be elected.

The percentage poll was 34.7%. There were 5133 valid papers and 157 rejected papers.

The quota of votes for a candidate to be elected is 1027.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
Gordon BAIN	246	
Matthew BROWN	1624	1
Ian CLARKSON	1374	1
Bobby COCHRANE	81	
Ian KERR	51	
Ruth MAGUIRE	265	9
Pat MCPHEE	614	
David O'NEILL	691	6
Derek OWEN	187	

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	83
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than one candidate	35
On which anything is written or marked by which the voter can be identified except the printed number and other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	39
Total number of ballot papers rejected	157

Signature Returning Officer Date

Election Results Ward 01 - Irvine West 04/05/2012

Total Number of Ballots Received	5290
Total Number of Valid Votes	5133
Number of Vacancies	4
Quota	1027

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of Matthew BROWN	Stage 2	Surplus of lan CLARKSON	Stage 3	Exclusion of lan KERR	Stage 4	Exclusion of Bobby COCHRANE	Stage 5	Exclusion of Derek OWEN	Stage 6	Surplus of David O'NEILL	Stage 7	Exclusion of Gordon BAIN	Stage 8	Exclusion of Pat MCPHEE	Stage 9	
Gordon BAIN S	Scottish Liberal Democrats	246	26.10031	272.10031	11.86938	283.96969	5.71074	289.68043	10.61807	300.29850	30.48060	330.77910	1.09582	331.87492	-331.87492	0.00000			
Matthew BROWN S	Scottish National Party (SNP)	1624	-597.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	Elected
Ian CLARKSON S	Scottish Labour Party	1374	0.00000	1374.00000	-347.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	0.00000	1027.00000	Elected
Bobby COCHRANE S	Socialist Labour Party	81	11.76352	92.76352	20.20320	112.96672	10.87269	123.83941	-123.83941	0.00000									
lan KERR S	Scottish Anti-Cuts Coalition	51	10.66069	61.66069	3.53556	65.19625	-65.19625	0.00000											
Ruth MAGUIRE S	Scottish National Party (SNP)	265	430.47131	695.47131	9.09144	704.56275	8.66386	713.22661	16.89192	730.11853	38.94088	769.05941	1.49209	770.55150	70.18341	840.73491	105.09095	945.82586	Elected
Pat MCPHEE S	Scottish Conservative and Unionist	614	20.58616	634.58616	17.67780	652.26396	0.98776	653.25172	3.87269	657.12441	25.10283	682.22724	0.99414	683.22138	90.04682	773.26820	-773.26820	0.00000	
David O'NEILL S	Scottish Labour Party	691	29.77641	720.77641	229.55886	950.33527	7.87269	958.20796	36.86938	995.07734	44.50300	1039.58034	-12.58034	1027.00000	0.00000	1027.00000	0.00000	1027.00000	Elected
Derek OWEN Ir	ndependent	187	10.29308	197.29308	5.55588	202.84896	13.73522	216.58418	14.50508	231.08926	-231.08926	0.00000							
Non-transferable votes		0	57.34852	57.34852	49.50788	106.85640	17.35329	124.20969	41.08227	165.29196	92.06195	257.35391	8.99829	266.35220	171.64469	437.99689	668.17725	1106.17414	
Total		5133	=	5133.00000	II	5133.00000	=	5133.00000	=	5133.00000	=	5133.00000	=	5133.00000	=	5133.00000	=	5133.00000	

Preference Summary Report Ward 01 - Irvine West 04/05/2012

Total Number of Valid	
Ballots	5133
Quota	1027
Percentage Turnout	34.7

	preference votes for								
Candidate Name	each candidate	each candidate							
Gordon BAIN	246	260	294	136	90	46	28	36	23
Matthew BROWN	1624	563	302	104	39	18	13	23	10
Ian CLARKSON	1374	824	398	124	44	26	24	14	10
Bobby COCHRANE	81	159	332	112	76	64	44	30	20
Ian KERR	51	98	193	117	57	52	44	47	30
Ruth MAGUIRE	265	1224	274	144	45	32	25	21	23
Pat MCPHEE	614	195	246	86	35	31	45	31	74
David O'NEILL	691	1017	377	191	63	27	28	24	23
Derek OWEN	187	158	288	122	62	37	40	45	38

Transfers Report Ward 01 - Irvine West 04/05/2012

Valid Ballots	5133
Positions to be Filled	4
Quota	1027

Stage 1	First Preferences
Gordon BAIN	246
Matthew BROWN	1624
lan CLARKSON	1374
Bobby COCHRANE	81
lan KERR	51
Ruth MAGUIRE	265
Pat MCPHEE	614
David O'NEILL	691
Derek OWEN	187

Matthew BROWN Elected with 1624 over quota 1027 Ian CLARKSON Elected with 1374 over quota 1027

Stage 2 - Surplus of Matthew BROWN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Gordon BAIN	71	0.36761	26.10031
Transfer to Bobby COCHRANE	32	0.36761	11.76352
Transfer to Ian KERR	29	0.36761	10.66069
Transfer to Ruth MAGUIRE	1171	0.36761	430.47131
Transfer to Pat MCPHEE	56	0.36761	20.58616
Transfer to David O'NEILL	81	0.36761	29.77641
Transfer to Derek OWEN	28	0.36761	10.29308
Non-transferables	57.34852		

Stage 3 - Surplus of Ian CLARKSON			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Gordon BAIN	47	0.25254	11.86938
Transfer to Bobby COCHRANE	80	0.25254	20.2032
Transfer to Ian KERR	14	0.25254	3.53556
Transfer to Ruth MAGUIRE	36	0.25254	9.09144
Transfer to Pat MCPHEE	70	0.25254	17.6778
Transfer to David O'NEILL	909	0.25254	229.55886
Transfer to Derek OWEN	22	0.25254	5.55588
Non-transferables	49.50788		

Stage 4 -	Exclusion	of lan	KERR
-----------	------------------	--------	------

Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Gordon BAIN	2	0.25254	0.50508
Transfer to Gordon BAIN	6	0.36761	2.20566
Transfer to Gordon BAIN	3	1	3
Transfer to Bobby COCHRANE	2	0.25254	0.50508
Transfer to Bobby COCHRANE	1	0.36761	0.36761
Transfer to Bobby COCHRANE	10	1	10
Transfer to Ruth MAGUIRE	1	0.25254	0.25254
Transfer to Ruth MAGUIRE	12	0.36761	4.41132
Transfer to Ruth MAGUIRE	4	1	4
Transfer to Pat MCPHEE	1	0.25254	0.25254
Transfer to Pat MCPHEE	2	0.36761	0.73522
Transfer to David O'NEILL	2	0.25254	0.50508
Transfer to David O'NEILL	1	0.36761	0.36761
Transfer to David O'NEILL	7	1	7
Transfer to Derek OWEN	2	0.36761	0.73522
Transfer to Derek OWEN	13	1	13
Non-transferables	17.35329		

Stage 5 - Exclusion of Bobby COCHRANE

otago o Exolación ol Bobby Goolina inte				
Action	Total Votes	Transfer Weight	Transfer Value	
Transfer to Gordon BAIN	6	0.25254	1.51524	
Transfer to Gordon BAIN	3	0.36761	1.10283	
Transfer to Gordon BAIN	8	1	8	
Transfer to Ruth MAGUIRE	4	0.25254	1.01016	
Transfer to Ruth MAGUIRE	16	0.36761	5.88176	
Transfer to Ruth MAGUIRE	10	1	10	
Transfer to Pat MCPHEE	2	0.25254	0.50508	
Transfer to Pat MCPHEE	1	0.36761	0.36761	
Transfer to Pat MCPHEE	3	1	3	
Transfer to David O'NEILL	47	0.25254	11.86938	
Transfer to David O'NEILL	25	1	25	
Transfer to Derek OWEN	2	0.25254	0.50508	
Transfer to Derek OWEN	14	1	14	
Non-transferables	41.08227			

Stage 6 - Exclusion of Derek OWEN

Stage 6 - Exclusion of Derek OWEN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Gordon BAIN	4	0.25254	1.01016
Transfer to Gordon BAIN	4	0.36761	1.47044
Transfer to Gordon BAIN	28	1	28
Transfer to Ruth MAGUIRE	8	0.36761	2.94088
Transfer to Ruth MAGUIRE	36	1	36
Transfer to Pat MCPHEE	3	0.36761	1.10283
Transfer to Pat MCPHEE	24	1	24
Transfer to David O'NEILL	7	0.25254	1.76778
Transfer to David O'NEILL	2	0.36761	0.73522
Transfer to David O'NEILL	42	1	42
Non-transferables	92.06195		<u> </u>

Scottish Local Government Elections 2012: Publishing Voting Information

In compliance with Rule 61 of the Scottish Local Election Rules the Returning Officer is required to publish within one week of the declaration of the results of the poll information detailing:

- the number of first and subsequent preferences for each candidate at each polling station; and
- information for all postal ballots cast in a ward combined as if cast at a further polling station in that ward.

The relevant ward polling scheme has been adapted to assist in identification of polling station/ballot box and to provide further combination information.

Maintaining confidentiality

To ensure that an individual's voter preferences cannot be identified, it has been necessary to aggregate the data where the number of votes cast in a polling station is less than 200. Where aggregation has been necessary this has been identified in the accompanying data. In combining polling station results the returning officer has adopted the following criteria recommended by the Electoral Management Board for Scotland, which includes:

- wherever possible votes from the same polling place, have been combined with another station at the same polling place;
- combining single polling stations that are close geographically, particularly in rural areas, including combining villages with villages;
- no polling place data has been combined with that from another ward combined manually entered votes have been combined with the final box for the Ward; and
- all postal votes for the ward are combined as one ballot box.

Data from E-counting System

The data from the E-counting system provides the number of ballot papers that were counted electronically, including any that were entered manually rather than scanned.

Use of Data

In releasing the data, the Returning Officer is making it freely available for public use. It is not subject to copyright and material may be re-used provided that it is acknowledged, not used in a misleading way and is reproduced accurately. The Returning Officer does not accept responsibility for any alteration or manipulation of the data once released.

Contact Details

If there are any queries or comments on the data provided, please contact Martyn McKeown, Election Manager on 01294 324130 or elections@northayrshire.gov.uk.

Ward	Polling Place	_	Station		Street Splits	Note on Combination
		District	Number	Ref		
1	Castlepark Community Centre	N101	1	STO01	Carron Place to Leven Place	
1	-	N101	2	STO02	Lomond Place to Tay Place	
1		N104			Carrick Drive to Racecourse Place	
1		N113			Nethermains	
1	Redburn Centre	N102	1	STO03	Arran Place to Golf Place	Combined with STO04
1		N102	2	STO04	Hunter Drive to Steps Road	Combined with STO03
1		N103			Anderson Avenue to Bruce Terrace	
1		N103	3	STO05	Dick Crescent to Smith Avenue	
1	Vineburgh Centre	N105	1	STO06	Barr Crescent to Winton Place	
1		N106	2	STO07	Ash Grove to Oaklands Avenue	
1		N106	3	STO08	Old Caley Road to Woodlands Avenue	
1		N108			Academy Gardens to Williamfield Park	
1	St Mark's Primary School	N107	1	STO09	Allan Square to Dalrymple Place	
1		N107	2	STO10	Galt Avenue to Thornhouse Avenue	
1	Volunteer Rooms	N109	1	STO11	Academy Court to Wilson Avenue	
1		N110	2	ST012	Adams Walk to Greenfield Drive	
1		N110	3	STO13	Gullane Court to Sillars Meadow	
1		N110	4	STO14	Slate Mill Gardens to Whyte Avenue and Other	
1	Fullarton Community Centre	N111	1	STO15	Auchengate to Dublin Quay	Combined with STO16
1		N111	2	STO16	First Avenue to Lugton Court	Combined with STO15
1		N111	3	STO17	McKinlay Crescent to Waterside	Combined with STO18
1	Drybridge Community Centre	N112	1	STO18	Auchengate to Shewalton Road	Combined with STO17
2	Stanecastle Primary School	N201	1	STO19	Altonhead Drive to Littlestane Row	

LIVE ELECTIONS MAY 2012 First Preference By Ballot Box Report Ward 01 - Irvine West 04/05/2012

Numbers of Preferences allocated to each Candidate

BOX ST001	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	16	20	22	11	4	1	2	1	0
Matthew BROWN	82	16	14	8	3	0	0	3	0
Ian CLARKSON	71	38	23	7	4	0	2	0	0
Bobby COCHRANE	4	1	16	6	5	5	1	1	0
Ian KERR	2	6	8	8	3	3	0	2	0
Ruth MAGUIRE	8	65	10	9	3	1	1	0	2
Pat MCPHEE	27	16	16	3	2	1	3	0	5
David O'NEILL	28	61	16	9	3	4	0	1	1
Derek OWEN	10	6	15	5	4	2	3	3	2
BOX ST002	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	32	20	24	11	8	4	0	2	0
Matthew BROWN	108	30	8	4	3	1	1	2	0
Ian CLARKSON	70	49	26	10	1	1	1	1	0
Bobby COCHRANE	1	12	13	2	3	5	6	1	1
Ian KERR	0	7	8	2	2	4	1	3	5
Ruth MAGUIRE	9	69	18	11	3	2	1	2	2
Pat MCPHEE	43	17	14	3	1	2	1	3	5
David O'NEILL	42	50	20	13	5	1	3	1	0
Derek OWEN	9	12	18	7	5	1	4	1	1
BOX ST003 & STO04	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	18	9	10	9	13	3	1	4	2
Matthew BROWN	126	53	16	4	6	4	1	2	2
Ian CLARKSON	113	62	29	16	6	3	3	3	2
Bobby COCHRANE	7	20	33	14	5	6	7	5	4
Ian KERR	4	5	19	12	2	5	9	7	3
Ruth MAGUIRE	31	98	29	8	5	5	1	3	3
Pat MCPHEE	15	5	16	5	4	3	5	3	7
David O'NEILL	54	75	37	26	4	7	1	1	5
Derek OWEN	17	11	18	10	5	2	7	7	4
BOX ST005	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	13	6	11	4	3	4	1	3	1

Matthew BROWN	56	17	14	3	1	3	0	2	0
Ian CLARKSON	61	44	19	4	1	2	0	0	0
Bobby COCHRANE	4	8	12	4	2	2	4	0	0
Ian KERR	1	2	10	4	2	2	2	4	0
Ruth MAGUIRE	13	46	7	5	3	0	3	0	1
Pat MCPHEE	6	4	8	2	2	0	1	1	8
David O'NEILL	45	48	15	7	2	0	0	1	0
Derek OWEN	10	9	8	3	2	1	3	1	1
BOX ST006	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	5	5	5	5	1	2	0	1	3
Matthew BROWN	93	27	11	5	0	0	1	0	0
Ian CLARKSON	55	38	19	6	1	2	1	2	1
Bobby COCHRANE	6	6	10	4	4	0	4	1	0
lan KERR	7	4	9	5	1	3	1	1	2
Ruth MAGUIRE	15	76	14	5	3	0	1	0	0
Pat MCPHEE	11	3	4	1	2	1	0	1	0
David O'NEILL	34	40	13	11	5	1	0	1	0
Derek OWEN	10	10	27	3	3	1	1	1	1
BOX ST007	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	7	9	14	8	4	5	0	2	0
Matthew BROWN	106	23	12	5	1	0	1	1	1
Ian CLARKSON	74	49	16	7	1	0	0	1	0
Bobby COCHRANE	4	16	18	5	6	1	1	0	0
lan KERR	5	2	7	5	1	3	1	1	2
Ruth MAGUIRE	4	70	12	9	3	2	2	2	0
Pat MCPHEE	14	9	12	2	1	0	1	0	2
David O'NEILL	45	40	22	6	5	1	2	0	0
Derek OWEN	15	12	14	9	3	2	2	2	2
BOX ST008	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	8	6	6	5	1	0	2	2	1
Matthew BROWN	66	22	9	4	2	2	0	1	1
Ian CLARKSON	57	42	16	4	0	0	0	0	0
Bobby COCHRANE	6	7	14	3	2	2	2	0	0
Ian KERR	2	4	5	2	4	2	0	0	0
Ruth MAGUIRE	14	41	12	6	1	0	1	2	1
Pat MCPHEE	29	11	7	1	0	2	1	1	3
David O'NEILL	32	43	19	4	1	0	0	0	0
Derek OWEN	11	15	9	4	5	1	1	1	1
BOX ST009	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	12	13	13	11	6	0	1	2	0
Matthew BROWN	66	25	18	6	2	0	0	0	1
Ian CLARKSON	84	40	24	5	2	0	1	0	0
Bobby COCHRANE	5	13	6	5	3	4	2	2	2
lan KERR	1	2	7	8	3	2	1	3	2
Ruth MAGUIRE	4	52	12	5	0	4	0	0	1
Pat MCPHEE	30	12	12	2	3	1	2	1	3
David O'NEILL	23	50	22	11	2	2	2	0	1

Derek OWEN	6	3	17	5	2	0	3	4	1
BOX ST010	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	10	11	9	8	1	0	2	1	0
Matthew BROWN	50	21	12	2	0	2	1	0	0
Ian CLARKSON	76	19	8	3	2	0	1	0	0
Bobby COCHRANE	3	7	5	2	2	2	0	1	1
Ian KERR	0	1	11	1	2	1	0	3	0
Ruth MAGUIRE	7	40	10	3	0	1	0	0	0
Pat MCPHEE	31	9	13	2	2	2	1	0	3
David O'NEILL	14	51	18	8	3	1	1	0	1
Derek OWEN	6	6	6	2	1	1	1	0	0
BOX ST011	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	5	10	18	4	4	2	3	1	0
Matthew BROWN	84	31	13	7	2	0	1	2	0
Ian CLARKSON	60	40	19	7	5	0	0	0	0
Bobby COCHRANE	2	7	22	6	2	4	0	0	0
Ian KERR	4	3	11	6	6	0	1	2	3
Ruth MAGUIRE	10	50	10	7	3	3	1	2	2
Pat MCPHEE	35	13	13	9	0	3	2	2	3
David O'NEILL	26	43	14	6	3	1	3	0	1
Derek OWEN	9	10	12	8	2	1	1	1	1
BOX ST012	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	9	14	20	6	6	2	2	1	1
Matthew BROWN	71	30	9	8	0	2	2	2	0
Ian CLARKSON	62	31	14	5	2	4	2	1	0
Bobby COCHRANE	5	10	14	3	4	5	2	2	1
Ian KERR	4	9	9	7	2	4	2	4	1
Ruth MAGUIRE	17	50	17	10	4	0	2	3	3
Pat MCPHEE	47	7	11	4	0	1	4	0	6
David O'NEILL	17	49	12	5	6	0	1	3	3
Derek OWEN	12	13	18	10	3	3	3	3	2
BOX ST013	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	20	20	21	10	5	1	2	1	1
Matthew BROWN	66	32	20	2	4	0	2	0	0
Ian CLARKSON	71	24	24	3	0	3	0	0	1
Bobby COCHRANE	7	6	20	5	3	4	0	4	3
lan KERR	1	1	8	7	3	2	4	2	0
Ruth MAGUIRE	7	50	14	6	2	2	0	1	2
Pat MCPHEE	46	12	10	11	2	2	4	0	5
David O'NEILL	18	56	14	7	3	1	3	1	0
Derek OWEN	9	9	14	8	2	1	0	5	1
BOX ST014	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	14	20	16	6	3	1	1	1	0
Matthew BROWN	68	25	6	1	2	0	0	0	0
Ian CLARKSON	60	24	15	3	1	0	0	0	0
Bobby COCHRANE	3	3	10	7	4	1	1	1	0
lan KERR	1	5	8	3	1	1	3	0	1

Ruth MAGUIRE	7	50	15	6	0	2	0	1	0
Pat MCPHEE	27	5	9	6	2	1	1	0	3
David O'NEILL	14	41	16	6	1	1	0	1	1
Derek OWEN	8	6	10	6	3	2	1	2	1
BOX ST015 & STO16	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	13	14	15	11	6	6	2	1	2
Matthew BROWN	113	41	26	10	4	1	1	3	1
Ian CLARKSON	55	46	23	7	7	1	6	2	0
Bobby COCHRANE	6	10	30	12	6	3	5	3	3
Ian KERR	2	15	14	13	5	3	3	4	4
Ruth MAGUIRE	30	103	24	10	3	3	2	0	1
Pat MCPHEE	28	13	19	10	4	2	3	3	3
David O'NEILL	69	50	19	10	6	2	0	5	4
Derek OWEN	15	8	19	7	3	6	3	3	4
BOX ST017 & STO18	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	5	6	12	9	6	2	1	1	2
Matthew BROWN	100	44	18	6	4	2	1	0	2
Ian CLARKSON	57	58	23	9	2	0	0	1	2
Bobby COCHRANE	2	8	22	4	3	7	2	1	0
Ian KERR	4	6	17	5	5	0	4	1	1
Ruth MAGUIRE	27	82	15	8	4	2	3	3	0
Pat MCPHEE	28	9	12	7	2	4	1	3	1
David O'NEILL	57	41	23	10	3	0	3	0	0
Derek OWEN	7	8	15	2	4	3	0	3	4
BOX Postals	1st	2nd	3rd	4th	5th	6th	7th	8th	9th
Gordon BAIN	59	77	78	18	19	13	8	12	10
Matthew BROWN	369	126	96	29	5	1	1	5	2
Ian CLARKSON	348	220	100	28	9	10	7	3	4
Bobby COCHRANE	16	25	87	30	22	13	7	8	5
Ian KERR	13	26	42	29	15	17	12	10	6
Ruth MAGUIRE	62	282	55	36	8	5	7	2	5
Pat MCPHEE	197	50	70	18	8	6	15	13	17
David O'NEILL	173	279	97	52	11	5	9	9	6
							7		

NB The STV election results cannot be calculated from these numbers.